TECNOPRINZ SA

LlaHroBbie 3a)XvMbl

ETS
12.7

SHa4eHuns yKasaHbl B MM

LlaHroBbifi 3a)Xxum

Tun oA B C S D oE Kopn 3aka3sa s LaHm
ETS 6 214.0 8.0 M10 x 0.50 13 6.3 4.00 2006.0000 ETAG
ETS6.1 || 2105 8.0 M8 x 0.50 9 6.3 4.00 2006.1000
ETS 8 218.0 8.0 M14 x 1.00 17 6.0 6.00 2008.0000 —
ETS8.1 || 0125 8.0 M10 x 0.75 11 6.0 6.00 2008.1000
ETS 9 213.5 8.0 M10 x 0.75 12 6.0 6.85 2009.0000 ETS 9
ETS9.1 || 215.0 8.0 M11 x 0.75 13 6.0 6.85 2009.1000
ETS 10 218.0 8.0 M14 x 1.00 17 6.0 7.00 2010.0000
ETS 101 || ¢15.0 8.0 M12 x 0.75 13 6.0 7.00 2010.1000 || ETA10/ETS10
ETS 12 219.0 || 120 M14 x 0.75 17 9.0 9.20 2012.0000
ETS121 || 2180 | 12.0 M13 x 0.75 16 9.0 9.20 2012.1000
ETS12.6 | 2250 | 125 M18 x 1.50 22 10.0 | 10.20 110.142 ETA12/ETS 12
ETS12.7 | 9250 | 125 M18 x 1.50 22 10.0 || 10.20 110.143
ETS16.1 | 0265 || 15.0 M22 x 1.50 25 110 | 12.30 || 2016.1000
ETS16.2 | 0247 | 15.0 M19 x 1.00 22 11.0 | 12.30 || 2016.2000
ETS16.3 | 0267 | 15.0 M20 x 1.00 24 110 | 1230 | 20163000 | EVA16/ETS16
ETS16.4 | 2300 | 12.0 M22 x 1.50 26 9.0 12.30 || 2016.4000
ETS 201 | 9320 | 165 M24 x 1.00 28 12.0 || 16.00 || 2020.1000 ETS 20
ETS20.2 | 2320 | 16.50 M25 x 1.50 28 12.0 || 16.00 | 2020.2000






